Multiplication
For maths this week I would like you to focus on Multiplication.
You should be getting on great with your times tables knowledge now.
[image: ]Before we finished we started to learn about the grid method for multiplying larger numbers.
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so 34 x 5
	x
	30
	4

	5
	30 x 5 to work this out use what you know.
3 x 5 = 15
30 x 5 is 10x bigger so I need to make my answer 10x bigger.
15 x 10 = 150
	4 x 5=

20
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Multiply the two rmbers fogether and write the answer in the box.

PR
o G
=3

8| 160 | (24

Add these two rumbers together to find the answer.

160 + 24 - 184
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